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Bin 94 Bin 151

Subtract the MC 
distribution from the  
data and plot the difference

∫
151

94
(Wdata − WMC)dn = 18140.588
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Bin 94 Bin 151

∫
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94
Wρdn = 125071.50
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∫
151

94
Wρdn = 125071.50∫

151

94
(Wdata − WMC)dn = 18140.588

∫ Wdif f

∫ (Wdif f + Wρ + Wrej)
=

18140.588
18140.588 + 125071.50 + 116950.00

= 0.069728023

0.4 0.08066188841 98.68677962
Pion % Electron %Cut point

∫
151

94
Wρrejecteddn = 116950.00

6.9% survival fraction under this assumption.  
Let’s compare to omega/pi0 study:

Assume difference is purely pion contamination 
from Rho0. Does the assumption hold up to previous 
studies?


